0\-.&.?“\\“1 ¢ n
POWERED BY 'i St bty $3 o
e % ’ﬁ"& N Qg N I3 c & 9
AR L A XY/ N £* p 22
-4 e 1G5 W \ Ay OB o
Su?! THie @ o Z z!
P2y s « B2 1R N
. 2. twig BiaZ2l N SES w
74" MAX. O.A. FRAME WIDTH ;.%‘:_ 1 2 SE 5 g g 0® X
DOOR COMPONENTS MADE IN THE USA -’g?& g%’; J 'g‘p- g _—‘;§ 90
oxEn., 1210 4 388 8§
. WS s g o5 B
Mindaed™ & O%: fn
3 287 b5
I g_ g o g Do
£ 3ok Ik
g0
Glazed Steel Door : =
P R g
0} 8
" - (1] — Z o
NON-IMPACT g
INSWING / OUTSWING 2 5 0
2 3B | &5
- — n<=
5 O 83
-t [RK] .Q:
Lt T
s ¢ X X s |, 58
2 = S |y =0
z 2 S 2Ly
[T . L 3 ~J
< < 0 L'JL(_G
S 2 B o |9Es
< . o %]
= 2 L
5 & 2 |9t
EVALUATED FOR USE IN THE STATE OF TEXAS T & &
The Glazed Steel Door system described herein complies with the 2018 o 2 Ix
international Residential Code (IRC), Sections R301 & Ré09 and the 2018 I
Intemational Building Code {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions: i
1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheef 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

UPDATE TO 2018 IBC/IRC CODE

TABLE OF CONTENTS

10/23/19|ADD “FusionFrame” OPTION &

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes

1

REVISIONS

Ll
—
<C
O
o
z
6

XX INSWING +30.0 -30.0

Astragal details {Ullimate Trilennium)

oATE: 11/16/1

Door panel details

Horizontal & vertical cross sections

Vertical cross sections

OUTSWING

+45.0

-45.0

SCALE:

N.T.S.

DWG. BY:

JK

N | jJWIN

Frame anchoring

CHK. BY:

LFS

DRAWING NO.:
TX—-4688

sHEET 1 ofF 6

RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, TX-4688

@ 2016 R.W. BUILDING CONSULTANTS INC.



TON] SANVLTINSNGD NIGTHNg "M'N 9102 &)

ZG8Li—4 # NOLVMISIO 40 ILVOLLLNED SNOISIAZY
SHIINIONT TYNOISSI40Hd 40 Quvo8 Svxal (WOINNTTIAL 3LYALIN) A 3ivd [ON]w ©
STVLIA IVOVHLSY =l il |0 Ve
L6L6°659°C18 FON Suoug 3000 0di/8l 810Z OL 31vadn Nalsiel 8,
S6SEC 714 OSMIDA OFZ X0@ ‘0'd \Sd@ NTBWGSSY 80 18Vd [S71| % Nolldo ,3wibuoisni, aavlL/ez/01] 19| L8
"ONI “‘SINVLIINSNOD ONIaTINg N B g | 2_
= |&|&lg B
CZIYOL# 3'd SwXaL YENON3 i Y1l |E m
A'ed WPIMYDS ‘4 uopuk Ag pesodelg spuewnsog 110NC0Yd S m W 5 m 5
WOLLOg
[t * |
i
™
_—
2 =
) * %
.. & .
5 _ .
il — WS9°T
= o
— K]
boog
& = Kol
~ u5 = - ®)
o~ ™ O
— 23 2
w0 S * £
. ]
m -
. &
- 23
m = m vy
] = o — z
2 & = m
_ : 5
O QO
° z — O
& < =
o3 LLi L1
o a4 “ w
2 2 5
oL (] —d AIM a.
m N M < &
£ =
8 3 T < S &
2 & 5 =5 =
4 < <
i ]
N Q
5
t a.
| 1%}
3 ™
© =
(7}
(7]
=
ju oy
Li.
[« 19
&
&
>
Y =
o 3
&
CHi _
dOlL
5
oF
Dt
= £
32 ) 2
8= = <
3 O
<
(0’4
T
%)
<C
e =
F ST Z
T 5 O 5 m =z
W Q@ 2 H... ) @ S LLI
N o 00 ¢ 53 =
° ! =) B —
(] [0} —_— p.m —
£ 2 <3 g2 Lus
o m 0 5 = [—
ko) 2 *z <
B ()]
S E S =
< =
\ ”
Mm! v . _u.m.m]uﬁ.mw\» [ rme——) e &l T/ ]
e e AW e M e

2’2 'BMP'88'/8'58'¥B9Y-XL\sBuimesq - D\(Wniuuaju]) paze|d S dHUOSEN $98-YQ - IaL\sul Jo 1daq sexa) - S\LNINVWY3d eInpus\siuayo\y



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 3.2

STILE {LVL)

-—1.75" —=

o.81"

EXTERIOR

A\
W

STILE {LVL)

7
7

INTERIOR

m HORIZONTAL CROSS SECTION

[\

oo oo

A

LOCK BLOCK
(WOOD: 12" LONG)

3/

21" MAX.
D.L.O. WIDTH

35.75" MAX.
PANEL WIDTH
D
/
1) ya
3/ / 7
£
o &
x O
z :
Z o
a. i
: X :
2 | =
n =
© &
/
v
/
2 SEE HARDWARE
TABLE
DOOR PANEL
Masonite

Steel (Wood Edge)

DOOR SKIN: 25 GA. STEEL {0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

9.875" MAX
ON CENTER

6.5"
(TYP)

-

ODL LITE FRAME

#6X1-1/2"
PPH SMS

INTERIOR

EXTERIOR

3A

#6 X 1-1/2" PPH SMS

I«— 1.75" —»,

Trilennium®3000 Series
Multipoint lock (3pt.)

GLASS BITE 1/2"

A\

"l ]—*— 0.57"

STEEL SPACER
Q'SO SEALANT

LOW TACK SEALANT

C:) GLAZING DETAIL

T
s

ODL LITE FRAME
HP Polypropylene

0.81"

— 1/2" OVERALL GLASS THK.

/ 1/8" TEMPERED GLASS

\ AIR SPACE
1/8" TEMPERED GLASS

TRILENNIUM
SERIES 3000 MULTIPOINT
LOCKING SYSTEM

TOP RAIL

. ";:‘" et
E .
R

o

oMy,

{(WOOD) \

25 GA. STEEL
SIDELITE SKIN

0.8

INTERIOR

EXTERIOR

/.

FOAM CORE

0.81"

BOTIOM RAIL
(WOOD COMP.)

- 171" |

/ 2"\ VERTICAL CROSS SECTION

NEY

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

ENDURA
DOOR PANEL DETAILS
& GLAZING DETAIL

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE
REVISIONS

10/23/19|ADD "FusionFrame” OPTION &

1

o
<
a
o
z
6

OATE: 11/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4688

SHEET 3 ofF 6

@ 2016 R.W. BuiLDING DONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 4.2

2X FRAMING 2X FRAMING . ui
2 (G >=0.42) (G >=0.42) LT ©y
DRYWALL DRYWALL FSxribi g o3 »
5/ — | -\ ] N AR £ , g4
T Ny A g iFi IS L
> it ok it | B 68 By g8 oy
H | EXT. SHEATHING ’ EXT. SHEATHING , ?‘5\% @i w® =y :;
¢l o ¥iliH : H £ *
/ / \ ’ \ ’ Geh izl 8 Esl iz
/// /// ] ‘! o 1 :ﬁ [8;;{_;};‘0-. %g = g El‘g gg
/ / | woxauzem » . RO P T
I L |~ WOOD SCREW alt o = 3 932 .E
i b ‘1114 L = O [ o
1/4" MAX. i oL 1 | g 50. 5 o
4 S 1y A 8 50 e mE
I f|SHMSPACE ™ ~ oy — "~ #10X 3" PFH RNGE |
Rze 4 MAx.—" ] WOOD SCREW 3 § £
— * °
© SHIM SPACE = s E gﬁ
X X = a0 l 8
1 DOOR PANEL f DOOR PANEL
@ ﬂ ‘g = S HEAD: PINE N HEAD: "FusionFrame" (1-PIECE) -
3
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP =9
(QEBD/PE 650) (QEBD/PE 650) ¥e
< O
/ / EXTERIOR W INTERIOR EXTERIOR W INTERIOR 2 |3 <
, ) Y o 50
/// /// (2 VERTICAL CROSS SECTION ("3 "\ VERTICAL CROSS SECTION 3 QE
/ : - Wi 5 ] Outswing shown - inswing aiso approved y 1 &°
l / \y Outswing shown - inswing also approved U g g pp i x &
oD I
8 £
& =
]/ It MAX 0.]5" ]/4" MAX g E
~ C'SINK -
CORNER PADS SHIM SPACE (vP) SHIMSPACE  £xT. SHEATHING 8
(TYP.) EXT. SHEATHING JAMB: "FusionFrame” F|O
(1 OR 2-PIECE) z|Q
JAMB: PINE \ S|E
e = e e S S G 16}
0.75" ﬁ*’! 0.75" "—’-i‘ 0.75" e S 40 X 2-1/2" PFH #10X 2-1/2"PFH ’ﬁ e e v f) o UZ”
— — |~ WOOD SCREW WOOD SCREW el B
ARALRRRRRAERATLLEN E N ;
COMPOSITE 92X FRAMING ULTIMATE TRILENNIUM ASTRAGAL o FRAMING LS o [
\ . ' (QEBD/PE 650) ENDURA WEATHERSTRIP {G >=0.42) N
, CAP " DOOR PANEL (QEBD/PE 650) 18
\ =]
3 n 2
“: i 1AL . AAAARAERLEARRAR R \ LL!
= X = AN Q| |=
D Qv ‘ \‘ Lo o [
/ g LVL el / s \\\ \ llll! =TS
L - |z
O fZAN
#8 X 2-1/2" PFH #8X 1"PFHSMS #10X2-1/2'PFH #8 X 1" PFH SMS #8X 2-1/2" PFH scae N.T.S.
‘*'—[ 1.25" l*—— WOOD SCREW MULTIPOINT
. e 1.25" | ] 1.25" e WOOD SCREW M #8 X 1" PFH STRIKE PLATE " WOOD SCREW DWG. BY: JK
: 4"HINGE 4" HINGE
JAMB / HEAD JAMB / HEAD IAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS cHk. 8. LFS
DRAWING NO.:
AMB /HEAD ~ JAMB | /" 1"\ HORIZONTAL CROSS SECTION -
PINE Fusionframe FusionFrame' 5/ Inswing shown - Outswing also approved TX—4688
(1-PIECE) (2-PIECE) \8 / Inswing g aso app o 7 o 6

© 2016 R.W. BUILDING DONSULTANTS INEC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trifennium\C - Drawings\TX-4684.85.87.88.dwg, 5.2

\\

INTERIOR EXTERIOR

DOOR PANEL

ENDURA
DOOR SWEEP

/j? / (DBK-R)

A\
INTERIOR EXTERIOR NDURA
DOOR PANEL WEATHERSTRIP _ _ DOOR PANEL
(QEBD/PE 450),  'NTERIOR EXTERIOR
ENDURA \ ENDURA INTERIOR |
DOOR SWEEP WEATHERSTRIP,  THERIDR
(DBK-ZAC) . 0@@ (QEBD/PE 650)
\ DOOR
PANEL

EXTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 1"\ VERTICAL CROSS SECTION
W Inswing Adjustable Threshold

4.56" !

INSWING ADJUSTABLE THRESHOLD
ZAIL4565

[ 4.56" !

INSWING ARTICULATING THRESHOLD

LIACLA4565

—

{—v 1.49" -

S ——————J

OUTSWING THRESHOLD

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7”3\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

#10 X 2.5 PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7”4\ VERTICAL CROSS SECTION

W Inswing Arficulating Threshold

Outswing Bump Threshold
w/ Pin Capture W

\Sj Outswing Bump Threshold

4.56" !
INSWING ADJUSTABLE THRESHOLD

L——————— 4.56"
2 INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4
ZAI4565FN ZAILAA4565

ZAIAA4565FN

R

456" !

! 4.56"

INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9

INSWING ARTICULATING THRESHOLD

ZAC4565FN LACLAA4565

ZACAA4565FN

MAX. DESIGN PRESSURE = £25 PSF

MAX. DESIGN PRESSURE = +25 PSF

—1.49" =

1
i AR

S ~————J |

! 4.56" !

INSWING ADJUSTABLE THRESHOLD
ZAI4565RDS

i

' L————— 456" ————J

10 INSWING ARTICULATING THRESHOLD

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FlL.. 33595
CERTIFICATE OF REGISTRATION # F—-11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

ZIACA4565RDS

s (=

456" .

4.56"
12 OUTSWING THRESHOLD

13 OUTSWING THRESHOLD

14 OUTSWING THRESHOLD

n 1OBL4565

ZOB4565FN ZOB4565RDS

FOB4566

10/23/19|ADD “FusionFrame” OPTION &

1

REVISIONS

o
<
a
o
z
6

oaTE: 11/16/1

SCAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4688

SHEET 5 of 6

© 2016 R.W. BUILDING CONSULTANTS IND.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium\C - Drawings\TX-4684.85.87.88.dwg, 6.2

84.81"

JAMB NOTES:

CONCRETE ANCHOR NOTES:

edge distance fo mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo

maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are nof exceeded.

3. Concrete anchor table:

i HEAD ANCHORS: 4
Y SOV o
SuZ #10 X 2-1/2" WOOD SCREW (PINE JAMB) S ;“;‘ o3 0
g0 #10 X 3' WOOD SCREW (1-PIECE JAMB) , S R0l 20 o &Y
ih O X% " Astragal Strike Plate E2A YOS B £ 2 uwwo
$°3 ¥ 2 ; @ Head Jamb L Su ¢B &%
< 9 ™ (TYP) 4 (TYP.) NN SE - ;3 zd
L : - -
e = ?o%‘@?ﬁws s £58 43
. (TYP.) 2 iZ i E O =Ze2 55
| SEEHINGE , ST I = 2 = g, 81 5 S8 ak
T R DETALL 1 i~ \‘ —-‘ 7 N\ B2 b g 0% LE
o s n #10X 2.5" PFH WS v 25% s,
o o E: o § g S
© - 8 =00 g
DETAIL T £ RBek gg
in - F 0
Y ' ' JAMB ANCHORS: 2 E £
< E \ #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) \ PR g &
N | #10 X 3" WOOD SCREW (1-PIECE JAMB) #8X2-1/2'PFHWS |3
£d ® /% -
» __4' Q é,‘ : .%
| I ' HBXTTPRHWS <0 | 1l S —F= #8 X 3/4" PFH Ws
e i SEE HINGE — 4'X 4" HINGE ©
DETAIL 2 \ 2
< o
. A — g |3
HINGE DETAIL 1 S =
L E W
Y i DETAL20OR3 | ) 8 2
5 N SN \ W . x
£t * * | #8X21/2PFHWS |3 S
. - 1 [}
1 \n e & Z L e S &
~ = n o a o
/ I é,. [ .‘4 I~
SILL ANCHORS: #BX 1"PFHWS <o | ®=t~ 48 X 3/4" PFH WS ol T
4 (ZYF(’% o #10 X 2-1/2" PFH WOOD SCREW 1 4" X 4" HINGE =
! o] T o " 1 n “ Q
FLOOR SUBSTRATE MATERIAL ~— 4" (TYP.) 1/4" X 2-3/4" ELCO OR \ s
HINGE JAMB  CONCRETE (MIN. 3000 PS}) ¢ ITW CONCRETE SCREW S
WOOD (G >=0.42) FRAME ANCHORING HINGE DETAIL 2 S|&|
XX 38| v
N Z
* blol 15
NOTE: Outside anchors are required for D.P. > 40 PSF. SIS 12
L Lt
ciO o
THE PINE OR "Fusionframe" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. Bl
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. F5
. 1S
a2
i ; intai ; 3/16" X 2-3/4" TW CONCRETE SCREW 2
1. Concrete anchor locations at the corners may be adjusted to maintain the min. OR ASTRAGAL PIN CAPTURE >
>
o~
S

nw

TAPCON® | 14 1-3/4" 1-1/2 4
ELCO " il " Lid
uLTRACON®| /4 1-3/4 1 4

#8 X 3" PFH WOOD SCREW

COMPONENT {UNDER CAP)

ASTRAGAL STRIKE
PLATE @ SILL \ 1/2" DIA. HOLE (IN CAP)
o) e 7 e o
£ = = =
1/2'DIA-HOLE pepaj 2 DETAIL 2 DETAIL 3
Outswing Inswing Inswing

1

&
<
a
o
b4
6

DATE: 11/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4688

SHEET 6 OoF 6

@ 2016 R.W. BUILDING DONSULTANTS INC.





